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O O0A 0000000

#include <iostream>

#include <iomanip>

#include <fstream>

#include <string>

#include <algorithm>

#include <cmath>

#include "femapp.h"

#include ". ./eigen/matrix.h"
#include ". ./eigen/eigen_value.h"
using mamespace std;

FemApp::FemApp()

{
}

FemApp::” FemApp()

{
}

void FemApp::set_factor_3()

{

const int& N = NN;

Matriz mtz_a_b(N, N)
Matriz miz_k_b(N, N);

//mtz_a.change_size(N, N);
//mitz_k.change_size(N, N);

// 00000

//for (int i=1; i<=N; i++) {

// fill(mtz_a[i].begin(), mtz_a[i].end(), 0.0);
%} fill(mtz_k[7].begin(), mtz_k[i].end(), 0.0);

//cout << "factor_1" << endl,

for (int i=1; i<=NE; i++) {

// 000000000000 00O

double& zi = elem[i—1].node[0]—>z;
double& zj = elem[i—1].node[l]—>z;
double& zk = elem[i—1].node[2]—>z;
double& yi = elem[i—1].node[0]—>y;
double& yj = elem[i—1].node[l]—>y;
double& yk = elem[i—1].node[2]—>>y;

double delta = fabs((zj—xzi)*(yk—yi) — (yj—yi)*(zk—xi));

int I = elem[i—1].node[0]—>index + 1,
int J = elem[i—1].node[l]—>index + 1,
int K = elem[i—1].node[2]—>indez + 1;

19
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}

// + 00000 A

/] (1)

double zijk = (zi+zj+ak)/(6*delta);
mtz_a-b[I|[I] += zigk * ((xk—zj)*(zk—2j)
mtz_a_b[I[J] += =zigk * ((zi—zk)*(zk—zj)
mtz_a_b[I|[K] += zijk * ((xj—=zi)*(zk—1zj)
miz_a_b[J|[I] += =zigk * ((zk—zj)*(zi—zk)

+ (w—yk)x(w—yk)); // UiDDDO

+

+

Jr

mtz_a_b[J]|[J] += =zigk * ((zi—zk)*(zi—zk) +
_|_

Jr

+

_|_

( (
(yk—yi)*(yj—yk));
(yi—yi)*(yj—yk));

(yj— yk) (yk—yi)); // UjDDO
(yk—yi)*(yk—yi));
(yi—yi)*(yk—yi));
(yi—vk)*(yi—yi)); // UkDDDO
(yk yi)(yi—yj));
(yi—yi)+(yi—yj));

mtz_a_b[J]|[K] += zijk * ((2j—wzi)*(zi—zk)
mtz_a-b[K][I] += zijk * ((zk—1zj)*(zj—xi)
mtz_a_b[K][J] += zijk * ((wi—zk)*(zj—xi)
mtz_a_b[K]|[K] += zyk * ((zj—zi)*(xj—=zi)

)/ (@)

miz_a_b[I|[I] += —(yk—yj)/3.0;
mtz_a_b[I][J] += (yj—vyi)/6.0;

mtz_a_b[I][K] += (yi—yk)/6.0;
miz_a_b[J|[I] += (yj—yi)/6.0;

miz_a-b[J][J] += —(yi—yk)/3.0;
mtz_a_b[J|[K] += (yk—yj)/6.0;
mtz_a_b[K][I] += (yi—yk)/6.0;
mtz_a_b[K][J] += (yk—yj)/6.0;
mtz_a_b[K][K] += —(yj—yi)/3.0;

/] (3)

double coef = delta | ((zi+zj+zk)/3);
mitz_a_b[I|[I] += coef/12.0;
mitz_a_b[I[J] += coef /24.0;
mtz_a_b[I|[K] += coef/24.0;
mitz_a_b[J]|[I] += coef /24.0;
mitz_a_b[J][J] += coef /12.0;
mtz_a_b[J]|[K] += coef/24.0;
mtz_a_b[K][I] += coef/24.0;
miz_a_b[K][J] += coef/24.0;
mtz_a_b[K][K] += coef /12.0;

// *+ 00000 K

coef = delta/60.0;

miz_k_b[I][I] += coef * (3.0xzi + 1.0xzj + 1.0xzk);
mtz_k_b[I][J] += coef * (1.0xxi + 1.0xzj + 0.5%zk);
miz_k_b[I][K] += coef * (1.0%zi + 0.5xzj + 1.0xzk);
mitz_k_b[J][I] += coef x (1.0xzi + 1.0xzj + 0.5xzk);
mtz_k_b[J][J] += coef * (1.0%zi + 3.0xzj + 1.0xzk);
miz_k_b[J][K] += coef * (0.5%zi + 1.0xzj + 1.0xzk);
mtz_k_b[K|[I] += coef x (1.0xzi + 0.5xxj + 1.0xxk);
mtz_k_b[K]|[J] += coef % (0.5xzi + 1.0xzj + 1.0xzk);
miz_k_b[K][K] += coef * (1.0xzi + 1.0xzj + 3.0xzk);

// 0000000000

// 00o00ooooo

int col-max = O;

const double ERR = 1le—10;

for (int i=1; i<=N; i++) {

int col = 0;
for (int j=1; j<=N; j++) {
if (fabs(mtz_a-b[i][j]) > ERR) { // 0000
col++;
}
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}
*/
}
}
// 000000
double FemApp::solve_eigen()
{
vec_u.resize( NN +1);
for (int i=1; i<=NN; i++) {
if (node[i].is_bc) {
vec_u[i] = node[i].value;
}
}
return eigen_value(mtz_a, miz_k, miz_idz, vec_u, arr_u);
}

if (col > colomaz) {
col_maxr = col;
}

}

// 00000
mtz_a.change_size(N, col_maz);
mtz_k.change_size(N, col_maz);
mitz_idz.change_size(N, col_maz);

for (int i=1; i<=N; i++) {
/*
// 00000000
int col_zero = 0;

for (int col_zero=1; col_zero<=N; col_zero++) {
if (mtx_a_bli][col_zero] < ERR) {

break;
}
}
*/
//
int £ = 1,

for (int j=1; j<=N; j++) {

if (fabs(mtz_a-b[i][j]) > ERR) {
miz_a[i][k] = mitz_a_b[i][j];
mtz_k[i][k] = mtz_k_b[i][j];

mtz_idz[i][k] = j
k++;

}
/*
for (int j=k; j<=col_max; j++) {

mtx_idx[i][j] = 0; //col_zero;

void FemApp::calc_rotation()

{

const double ERR = 1le—10;

for (int i=0; i<NE; i++) {
double& zi = elem[i].node[0]—>z;

double& zj = elem[i].node[l]—>z;

double& zk = elem[i].node[2]—>x

i
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}

double& yi = elem[i].node[0]—y;
double& yj = elem[i].node[l]—>y;
double& yk = elem[i].node[2]—>y;
double delta = fabs((xj—zi)*(yk—yi) — (yj—yi)*(zk—xi));

// value 00000
double beta = ((yj—yk)*vec_u[elem[i].node[0]—>index]
+ (yk—yi)xvec_u[elem[i].node[1]—>index] 180
+ (yi—yj)*vec_u[elem[i].node[2]—>index])/ delta;
double gamma = (—(zj—zk)*vec_u[elem[i].node[0]—>index]
— (zk—xi)xvec_ulelem[i].node[1]—>index]
— (zi—zj)*vec_ulelem[i].node[2]—>indez])/ delta;
double alpha = ((zj*yk—zk=yj)*vec_u[elem[i].node[0]—>index]
+ (zhkxyi—zixyk)*vec_u[elem[i].node[1]—>indez]
+ (wixyj—zjxyi)xvec_ulelem[i].node[2]—>index])/ delta;

for (int j=0; j<3; j++) {
if (elem[i].node[j]—>z < ERR) { 190
elem[i].node[j]—> er.push_back(0);
elem[i].node[j]—> ez.push_back(2x gamma);

// 00000000

{

}
else {
elem[i].node[j]—> er.push_back(—beta);
elem[i].node[j]—> ez.push_back(
(alpha+betaxelem[i].node[j]—>y)/elem[i].node[j]—>z+2%gamma);
}
}
} 200
/) 0D
for (int i=0; i<NN; i++) {
double sumr = 0;
double sumz = O0;
for (int j=0; j<node[i].er.size(); j++) {
sumr += node[i].er[j];
sumz += nodeli].ez[j];
}
node[i].er[0] = sumr / (double)nodeli].er.size(); 210
node[i].ez[0] = sumz / (double)nodeli].ez.size();
}
void FemApp::print_solution()
ofstream fs("plot");
for (int i=1; i<=NN; i++) {
fs << left << showpoint << setfill('0') << setw(13) << setprecision(10) 220

}

<< node[i—1].xz << "\t";

fs << left << showpoint << setfill('0') << setw(13) << setprecision(10)
<< node[i—1].y << "\t";

fs << left << setiosflags(ios::fired) << showpoint << setfill('0') << setw(1l4) << setprecision(10)
<< wec_ufi] << endl;

fs.close();
fs.clear();

fs.open("elems"); 230
for (int i=0; i<NE; i++) {

for (int j=0; j<3; j++) {
fs << elem[i].node[j]—>index << "\t";
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}

}

fs << endl;

void FemApp::print_solution2()

{

}

ofstream fs((fname + ".field").c_str());

// global

/*

fs << “$global” << endl;

fs << “analysis_type=eigenmode” << endl;
fs << “field_data=node Ht” << endl;

fs << “$end” << endl;

o/

/] field
fs << "$field" << endl;

for (int i=0; i<NN; i++) {
fs << i+l << '\t
fs << wec_u[i+1] << '"\t';
fs << node[i].er[0] << '\t';
fs << node[i].ez[0] << endl,
}
fs << "$end" << endl;
fs << "$end_data" << endl;

fs.close();

// zxzzzzzz.meshout 00 000000 00O0OOOO
bool FemApp::read_mesh(const string filename)

{

fname = filename;

ifstream fs((filename + ".meshout").c_str());

if (Ifs) {

cerr << "read_mesh() : cannot open " << filename << endl;

return false;

}

char buf[1024];

while (!fs.eof ()) {
fs.getline(buf, 1024);
string str = buf;

if (str[0] == '#' || str[0] == ' ') {

// 00000
continue;

else if (str == "$global") {
// 0000000000

if (read_mesh_global(fs)) {

node.resize( NN );
elem.resize(NE);

}
}

else if (str == "$elements") {
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// DO

read_mesh_elements(fs);

else if (str == "$points") {

// DO

read_mesh_points(fs); 300

else if (str == "$end_data") {
break;
}

}

fs.close();

return true;
} 310

bool FemApp::read_mesh_global(ifstream& fs)

{
char buf[1024];

while (Ifs.eof ()) {
fs.getline(buf, 1024);
string str = buf;

if (str[0] == '#' || str[0] == ' ') { 320
continue;
} else if (str == "$end") {
return true;
} else {
if (str.find("node=") = —1) {
NN = atoi(str.substr(str.find("=")+1).c_str());
} else if (str.find("nelm=") != —1) {
NE = atoi(str.substr(str.find("=")+1).c_str());
}

} 330

}

return true;

}

bool FemApp::read_mesh_elements(ifstream& fs)

{
char buf[1024];
int ¢ = 0;

while (!fs.eof ()) { 340
fs.getline(buf, 1024);
string str = buf;

if (str[0] == '#' || str[0] == ' ') {
continue;

} else if (str == "$end") {
return true;

} else {
// str.substr(n) »ostr[0]0 str[n—1] 0D OOOOO
/] str.substr(str.find("x")+1) : str[0]0 'x' oooooo 350
/] str.substr(0) :ostr
// str.substr(0, n) Dstrn]0 00O oooooo
/] str.substr(0, str.find("x")) : str[n]0 'x' oooooo
elem[i].index = 1;
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str = str.substr(str.find("\t")+1); // 00000000000
//1000000000000000000000000 atos(...)—10

elem[i].node[0] = &node[atoi(str.substr(0, str.find("\t")).c_str())—1];

str = str.substr(str.find("\t")+1);

elem[i].node[1l] = &node[atoi(str.substr(0, str.find("\t")).c_str())—1];

str = str.substr(str.find("\t")+1);

elem[i].node[2] = &node[atoi(str.substr(0, str.find("\t")).c_str())—1];

1+
}
}
return {rue;
}
bool FemApp::read_mesh_points(ifstreamé& fs)
{
char buf[1024];
int ¢ = 0;
while (Ifs.eof ()) {
fs.getline(buf, 1024);
string str = buf;
if (str[0] == '#' || str[0] == ' ') {
continue;
} else if (str == "$end") {
return f{rue;
} else {
node[i].index = 1i;
str = str.substr(str.find("\t")+1); // 00000000000
node[il.z = atof (str.substr(0, str.find("\t")).c_str());
str = str.substr(str.find("\t")+1);
node[i].y = atof (str.substr(0, str.find("\t")).c_str());
str = str.substr(str.find("\t")+1);
if (str[0] == '1') {
// 0000
str = str.substr(str.find("\t")+1);
node[i].value = atof (str.c_str());
node[i].is_bc = true;
}
else {
node[i].value = 0.0;
node[i].is_bc = false;
}
i+t
}
}
return true;
}
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